Figure 4. from A Population Study of Gaseous Exoplanets
null 2018 AJ 155 156 doi:10.3847/1538-3881/aaaf75
https://dx.doi.org/10.3847/1538-3881/aaaf75

© 2018. The American Astronomical Society.

[\ | observed spec. best — fitmod. — CHy; —— CO —— CO, —— NH3 — TiO —— H,0 —— VO
110 WASP 76b HAT-P 1b HAT-P 38b
o 1(T)| ‘TT T ’ | " A‘DI 36.44 T La | B =135 J \ ‘ADI 818 0.90 | Tog(E) = 138 \ ‘A‘D\ =067
I
1.08 138 | 0.88 \ | ’
j f i h I bilg /171
o4 AL W | e LT e AT
WASP 39b 34 HAT-P 41b o8 G) 3470b
Ts® =177 ] AT - 35z 1.06 { Tog(E) = 140 ADI=7.29 Tog(E) = 152 ADI = 031
214 ‘ ‘ x 0.61 ‘ l
212 il | | | 1.04 IHH ) W ‘NHIH H
2104 | ,|‘| | Lo |H|H ’ 0.60 ’H | ‘ ‘
T N R |
208 HAT-P 26b 1007 HAT-P 11b 0% HAT-P 17b
0.54{ Tog(E) = 141 | ADI = 32.73 109(E) = 151 | ADI = 6.61 Tog(E) = 138 ADI=0.28
111, ase i " |
052 | ‘ ' 1 | | | ‘ ‘ 1 | ) ' | ‘ I ’ . ‘
s ||m|\‘ I 035 H” H[ 146 |‘ ” ’H
034
WASP 12b HAT-P 18b WASP 67b ’
142 Tog() = 139 l \ ADI = 25.08 1.90 { Tog(E) = 133 ADI=5.71 2.75 { Tog(E) = 118 ADI= 027
1.40 | H' H 1.88 1 ‘ H‘Hll | l 2.70 ‘ \’ H
)l} ' 186 H‘ l 265 l H‘H‘
1.38 | | ‘ ' ‘ - ‘ 2.60
WASP 52b X0 1b WASP 101b
1og(B) = 126 ‘ ADI = 2032 176 Ing(E)r 135 ADI=3.15 1.20 { Tog(®) 7 1 J ‘ ADI = 0.00
‘ 119 \
27 | | 174 ' | 1 ‘ ( ‘ ’ ‘ | 118 | ‘ | ‘ ‘ \
2.70 "H‘ H“‘ 172 "H H‘ 117 ‘H
116
HD 209458b HAT-P 12b HD 149026b
. Tog(E) = 152 | ADI = 17.21 100 Toa® =136 ADI = 3.08 0.265 | 109(E) = 163 ‘ AOT=000 | i
1.46 | I |H‘ ﬂ‘ . HH 1 0260 | \I““H
| 'H|‘ ||‘ 186 H ‘ ‘ HH 0.255 | ‘ | ‘
145 N i
HAT-P 32b WASP 43b HAT-P 3b
10g(E) = 132 ADI = 16.44 o g(E) 142 ADI=1.93 1.23{ Tog(®) = 142 ADI = 0.00
2350 ' ‘ | Ay 2.55 ‘ J 1.22 | ‘ l \ )
2.325 | | | | I ’ ' ‘ i ! 2.54 ' ‘ | \ I 4 ’ 121 ’ I ) ) } . ‘ ) |
2.300 "y \ | ‘ ‘ ‘ ’ ’ 1.20 ’ ‘ ‘
2.275 | ‘ 2 119 |
WASP 69b WASP 31b WASP 63b
167 Iog(T) —142 ' ADI = 13.30 164 T10g(E) = 128 ADI= 131 0.63 | 09 =146 ADI = 0.00
1.66 | | 1.62 ‘ { d-L_ I ‘ \ ‘
o ! il U TNIF LN il
158 ‘ | l 0.61 ’ ‘
164 | | 156 } ‘ \[\ ‘ 1
A 0.60
HD 189733b WASP 29b WASP 74b )
Tog(E) = 142 | ADI = 1177 Ing(T) =146 ADI=125 Tog(E) = 143 ADI=000 [ 11
093
1 My ool P ol M |
2.42 | ‘| ‘i‘ 0.95 H“u M 091 " “ ‘ H
WASP 121b oot WASP 80b " o0 G) 436b
. [Tlog(E) = 132 ADI = 11.52 2.95 { log(E) = 136 ADI = 1.16 0.705 | Tog(E) = 152 ADI = 0.00
R 148 l x \ b J
N | | | | ’ 294 J } | 0.700 ‘ \ ‘
V146 | | 293 ’ t \ ‘ | ‘ ' 0.695 ’ ‘ ’ ( l ’ ‘
< | || ' ¥ e ‘ l ‘ | ’ 0.690 I ‘ |
« 144 ‘ - ‘
- 0.685
12 14 16 9 o ° 12 14 16 /;e o ° 12 14 16 /;a o °

S
Wavelength (um ’
gth (um) log(mixing ratio)



